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QUESTION 1

You are a StorageGRID administrator, and your CIO wants to know what happens when two clients update the same
object.

How does StorageGRID manage this situation?
A. The first client request locks the object.

B. The last anonymous user receives priority.
C. The last client request updates the object.

D. The last user gets an error message.

Correct Answer: A

QUESTION 2

You are provisioning SMB or dual-protocol shares in Cloud Volumes Service-In this scenario, what Active Directory
information must be provided?

A. gateway IP address

B. DNS server IP address
C. NIS server IP address
D. DHCP server IP address

Correct Answer: D

QUESTION 3

You are operating a NetApp AFF system. You are creating Snapshot copies on all volumes every four hours. You keep
the copies for 30 days. You also have StorageGRID installed with available capacity. You are running out of disk space
and want to free up space in the most cost effective way without losing any Snapshot copies.

In this scenario, which statement is correct?

A. Add additional SSDs to your aggregates.

B. Add a tape library and copy the Snapshot copies to it every day.

C. Deactivate Snapshot copies on all volumes.

D. Add an external capacity tier to your aggregates and set the tiering policy to snapshot-only.

Correct Answer: A
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QUESTION 4

You want to create a new volume for Azure NetApp Files.

In this scenario, which three fields are mandatory? (Choose three.)
A. File path

B. Region

C. Virtual network

D. Capacity pool

E. Subnet

Correct Answer: ADE

QUESTION 5

You are an administrator of two NetApp HCI systems In different data centers. You are asked to replicate volume data
between the two data centers.

Which two requirements must be satisfied before completing this task? (Choose two.)
A. All volumes chosen for replication must be thin provisioned in advance.

B. All management and storage networks must be routed to each other.

C. You must have the peering license installed on both clusters.

D. You must have cluster administrator privileges to one or both clusters being paired.

Correct Answer: BC
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